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QUIZ B

Ace Systems, Inc. uses a perpetual inventory system. The company’s beginning inventory of a particular product and its purchases during the month of January were as follows:





            


    Quantity 
  Unit Cost   Total Cost


Beginning inventory (1 Jan.)

10
$27.50
  $275



Purchase (15 Jan.)

15
$28.00
$420



Purchase (23 Jan.)

  5
$29.00
    $145


     Total

30

$840
On 28 January, Ace Systems sells 18 units (10 units from beginning inventory, 4 units from 15 Jan purchase, and 4 units from 23 Jan purchase) of this product. The other 12 units remain in inventory at 31 January.



1
Refer to above data.  Assuming that Ace Systems uses the weighted average cost flow assumption, the cost of goods sold to be recorded at 28 January is:




a
$504.
c
$499.




b
$336.
d
Some other amount.



2
Refer to above data.  Assuming that Ace Systems uses the specific cost identification method, the cost of goods sold on 28 January is:




a
$331.
c
$509.




b
$503.
d
Some other amount.



3
Refer to above data.  Assuming that Ace Systems uses the FIFO flow assump​tion, the cost of goods sold on 28 January is:




a
$509.
c
$499.




b
$341.
d
Some other amount.



4
Refer to above data.  Assuming that Ace Systems uses the weighted average cost flow assump​tion, the 12 units of this product in inventory at 31 January have a total cost of:




a
$499.
c
$509.




b
$336.
d
Some other amount.



5
Refer to above data.  Assuming that Ace Systems uses the FIFO flow assump​tion, the 12 units of this product in inventory at 31 January have a total cost of:




a
$341
c
$499.




b
$509.
d
Some other amount.
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QUIZ C


Canfield uses a perpetual inventory system. The company’s beginning inventory of a particular product and its purchases during the month of January were as follows:

Quantity
Unit Cost
Total Cost
Beginning inventory (1 Jan.)

50
$6
   $300

Purchase (10 Jan.)

25
$7
$175

Purchase (22 Jan.)

25
$8
  $200
     Total


100

  $675
On 25 January, Canfield sells 55 units (50 units from beginning inventory, and 5 units from 22 Jan purchase) of this product.  The other 45 units remain in inventory at 31 January.

a 
Determine the cost of goods sold using each of the following valuation methods:


(1)  Specific cost identification                                       
$_____________


(2)  FIFO                                      
$_____________


(3)  Weighted average cost                               
$_____________

b 
Determine the cost of the 45 units in inventory at 31 January using each of the following valuation methods:


(1)  Specific cost identification                                       
$_____________


(2)  FIFO                                       
$_____________


(3)  Weighted average cost                               
$_____________
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QUIZ D
 
Sherman Electric uses a periodic inventory system. The beginning inventory of a particular product, and the purchases during the current year, were as follows:


1   Jan.  

Beginning inventory

 60
units @ 
$105
=
$  6,300


8   Mar.

Purchase

30
units @ 
$115
=
3,450


11 Aug. 

Purchase

    90
units @ 
$125
=
11,250


23 Oct. 

Purchase 

  20
units @
 $135
=
   2,700

     Total available for sale

200
units


$23,700
At 31 December, the ending inventory of this product consisted of 65 units.

Using periodic costing procedures, determine (1) cost of the year-end inventory and, (2) cost of goods sold relating to this product under each of the following flow assumptions: 





           (1)
             (2)
                  
               
      Inventory         
          Cost of

                   
    

     at 31 Dec.         
       Goods Sold


a 
Weighted average cost              
$_______________  
$_______________


b 
First‑in, first‑out       
$_______________  
$_______________

SOLUTIONS 

QUIZ B

1
A

2
B

3
C

4
B

5
A

QUIZ C

a
Cost of goods sold


(1)  $340 (50 @ $6) + (5 @ $8)


(2)  $335 (50 @ $6) + (5 @ $7)


(3)  $371.25 (675 ÷ 100) x 55

b
Inventory at 31 Jan.:


(1)  $335 ($675 - $340)


(2)  $340($675 - $335)


(3)  $303.75 (45 @ $6.75)

QUIZ D

a
Weighted average cost:



Inventory


$7,702.50
      [65 @ ($23,700 ( 200)]



Cost of goods sold
$15,997.50
($23,700 - $7,702.50)    

b
First-in, first-out:



Inventory


$8,325
(20 @ $135 + 45 @ $125)



Cost of goods sold
$15,375
($23,700 - $8,325)

